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the “questions only” test will be posted. A few weeks later, we will post the “question/answer” sheet.
Please write clearly and use only black ink. Unless otherwise indicated, all questions are based on >"w \xns.

This week’s bechina starts at the top of .1 77
and finishes at .1 77, 13m° *2777 '21KR% (15 lines from the top)

1. X237 mN...
A). NWRA W DOrann

B) . 1w W ar2ann

2. According to X217, how does this 12777 differ from nx°2?

3. On last week’s 77 we learned that

e Because of the :p5p that happened when the wmini 7w came after amn, a mpn was made not to accept o>y after amn,
but rather keep the rest of the first day plus the second day wnp.

e The effect of this mipn is that the two days of mw wxn are considered a nax mwTp.
e Therefore, an egg laid on the first day of mw:n wx~ stays forbidden on the second day.

A) What historical fact did 27 797X X172 27 97K X139 27 2K tell us regarding *wn wTInm "797?

B) Based on this, in what way did the people of *¥7771 disagree with 27 and why?
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4. A) How did &1 n qualify X297 (question #1)?

B) "wX 17 disagreed with X701 9. He said 13127 71w

N °237 1w 2 av.

5. Who are the people of 1211 and how did they affect the 17 of 210 o1°2 Nn?

6. A) According to the people of *¥7771, if 73wn WX came out on Thursday-Friday, if one forgot
to make an 12°wan 217 on mw WX 27, how can this problem be rectified?

B) Would this solution work according to X277

C) How did *wxX 27 weigh in on this issue?

7. Fill in the following chart regarding an masY, a chick, that hatched on 21w ay.

The reason why 2N or TON

iy

SXINY

1AM 527 RR°N°RY
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8. The phrase v w2 ¥A¥Y 7°NM 2°X17 means ...

a) Since it becomes permitted to eat after it is shechted, so too it loses its 7¥pn status after it
becomes shechted.

b) Since it became permitted to shecht after it hatched, it also loses its 77X status after it
was hatched.

9. A) Would the same np17mn between 27 and a1 %27 82°0°R) 2Rmw apply to a non-39°7v calf
that was born on 210 01°? Why or why not?

B) According to 101 27 X»°n°X1 1727, should the same npYonn between 27 and 27 RRORY HRIDY
1371 apply to a 719°7v calf that was born on 210 01°? Why or why not?

10. According to 701 27 X1°n°XY 1127, true or false and why ...
A) 0°2709 191 7 OIR? 1Pn?

B) 07X? 1911 "7 022937 1Dmn?

(22:8° XIP™1) 1077 TRW 2 DI2IRN KD PR DY yws yws 9357 00930 7290 92 7Y ¥R DY 7217 991 10 DY 7m 9o
11. What does 2p¥° 32 219°%R 21 learn from yR:a by yws yaws 935?

12. 771031 TNRCY OV %2 ,27 MR X1 27 MK, an egg, once it leaves (its mother chicken) is
considered complete. The X713 discusses what 27 was referring to when he said the egg was
complete.

A) What was the X713’s first suggestion and why did the X773 reject this?
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12B) The Xn3’s next suggests that 27 was referring to an egg, that when it exited the chicken
before 210 a7, it is permissible to be eaten on 2w av. Why did the X3 reject this?

13. A complete egg found in a shechted chicken cannot produce a chick. A chick can only be
produced from an egg laid from a live chicken. An egg laid from a live chicken also has a
superior taste than a complete egg found in a shechted chicken.

A) If a person wants to buy an egg laid from a live chicken (because he prefers its taste) and
was sold a complete egg from a shechted chicken ...

a) The seller must pay the buyer the difference in price between the two.
b) Itisa myv npn and the seller must return the full payment to the buyer.

B) If a person wants to buy an egg laid from a live chicken (for chicks) and was sold a
complete egg from a shechted chicken ...

a) The seller must pay the buyer the difference in price between the two.
b) Itisa nwv npn and the seller must return the full payment to the buyer.

C) The Xn¥’s first accepted understanding of 27 is that once an egg exits the chicken, it is
complete in that it is able to produce a chick. What practical difference does it make 1709797

14. A) Does 11m1° °27 permit eating on 210 217 a 7771 2 21 272 7210 ORYW %027

B) According to both versions of the X°X n°ya°X on .7 77, does 21 agree?

Let’s plan to be ma1p the noon focusing on a simple 5711 of just the X W X9pw inside:
Were you able to make a few minutes every day for an immediate s73m of the portion just learned?

Were you able to make time on naw or Sunday to do a r71i of the n7?
Were you able to make time on naw or Sunday to do a s of the last 3 o'57?




